








D x1m°2+3/.13 *D
c'-— —
2 i 711_31><




M,

K+y+z gl | %20 ,4y70, 220

x4y +32 =) K= A0 =0

G2 3i=—y4 +)

d=? & x+2E)







Ll

=2 k%
s

£

N

)<7'4-(j"4-‘-l22\<l

XE4 Yyt ryzt= ‘ﬁﬂi;?aofc/
g% . 2 o , 019 ©
A I hadnadar 1, 7, s




'Ko‘l'u‘H‘DnSS(jmmu{v; bn')g 2-ax6ln
~

Ll M, x“rytszel - 1

xL-Lgis 2 och 2<£1

Xl_pgz-:% z=/

L=’Cz4éz
no- - - -7 S\ T
Slumuzéj Y=o Z=x" o S
x=o: Ty"
& =0, x“1yt=0
wém/fo"g/o






0?'//’ M -7L < iy,
6
)( e
,0_//' M//

o(zvs, xtay©
3 + 0.2 £

><Z+Jz=— /
Ser Q'hﬂ
” .
} ut s vm]'e ]D/M ==
. %é\a
)//)’



. sts0tz
Sle) )= e (28) wisiUige dod. mivegd
Tips”

/ < iy N
>0
* =Y
&) ~+4 20 edh )(_—J>D

Mo
&+z| <o oot X-Y<o

N T T ST AR S S Y S TSR — PR SRV

=l
4 ny




J
Y ¢) {
Cx
y) ==x

= Y —(Z+y?
4%

2=
B
4
al
?Mbblm\'l
2 -—
= —(x%
pd|
g/




1,2 x& “< Y
jﬂfé/ LQQJ‘:J;jajgjz g

Ly 2 L:z_z
J 1) Ty elyY) e Ty Tt g |
z =\ Y —(xl*(.\] ) —> & d S "V‘-eaé,? ,070

redjo .

Korrel4 - &z_‘a‘z#z?:‘?a <3 §Z='~{_—(x7-la2/

- : Qe hedvusts,~
S—j-lé‘y‘/ W‘Q"L‘ir\tﬂjfﬁ C=> 2_\-_>+ kt '—G‘CL'!(J Z/
radie _
"N
\Ii Lar allf a
dow dvre
km%am:

bndre bdusta'y~




